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總體2003/上     第二次考試   班級：        學號：           姓名：

Williamson Ch 5-6  (2003/12/18, 9:10-10:50 am)

I. Multiple Choices (36 points, with 4 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。

1) Points on the production possibilities frontier have the property that they

a) are inherently unattainable.

b) show the maximum amount of leisure that can be consumed for given amounts of goods consumed.

c) show the maximum amount of goods that can be consumed for given amounts of government spending.

d) show the maximum amount of leisure that can be consumed for given amounts of hours worked.

2) An increase in government spending

a) increases consumption, increases hours worked, and increases the real wage.

b) reduces consumption, increases hours worked, and increases the real wage.

c) reduces consumption, increases hours worked and reduces the real wage.

d) reduces consumption, reduces hours worked, and reduces the real wage.

3) A good proxy for the flow of consumption services would be

a) aggregate consumption.

b) consumption of services and consumption of durables.

c) consumption of durables and consumption of nondurables.

d) consumption of nondurables and consumption of services.

4) Intertemporal decisions involve economic decisions

a) made within a given period of time.

b) made in between two periods of time.

c) involving tradeoffs across periods of time.

d) that ignore concerns about the future.

5) A competitive equilibrium is a state of affairs in which

a) markets clear, and output is maximized.

b) output is maximized, and all agents are equally well-off.

c) all agents are equally well-off and agents are price-takers.

d) agents are price-takers, and markets clear.

6) A Pareto optimum requires all of the following except

a) MPN =  ( slope of PPF.

b) MRSl,C  = MRTl,C.

c) MRTl,C  = MPN
d) MPN. = w.

7) A change in the stock market is a good indicator of a change in

a) current income.

b) future income.

c) wealth.

d) the future growth rate of real GDP.

8) A competitive equilibrium may fail to be Pareto optimum due to all of the following except

a) inequality.

b) externalities.

c) distorting taxes.

d) non-price-taking firms.

9) An important reason why Ricardian equivalence may fail is if

a) borrowing and lending is done through intermediaries.

b) government debt incurred today may not be paid off until after some current consumers are deceased.

c) state and local governments also engage in debt finance.

d) some consumers are borrowers, while other consumers are lenders.

選擇題答案請寫在下面答案格上：

	1.
	
	2.
	
	3.
	
	4.
	
	5.
	

	6.
	
	7.
	
	8.
	
	9.
	
	
	


II. Numerical & analytical questions (Total: 64 points)

答案請直接寫在題目卷上。
(計算題請寫計算過程，只有答案不計分，式子正確但計算錯誤部分給分。
分析題請說明過程。)

1. In a one-period (static) macroeconomic model, there are a representative household, a representative firm, and government.  Please derive the corresponding Walras’ law and explain its relationship to general equilibrium. (16%)
2.
Suppose that government spending increases household’s utility ; for example, government spending on roads and parks makes people happy.  In a one-period model, we could simplify this statement by assuming utility function is represented by U=U(C+G, L), where C is private consumption, G is government spending, and L is leisure.  Government spending is financed by collecting lump-sum taxes from the households.  Draw a graph and show the equilibrium effects on consumption, hours worked, output of an increase in government spending. (15%)
2. Answer:
3.
Suppose that a consumer’s future income decreases and the real interest rate decreases as well.  Consider the case where the consumer is initially a borrower.  Determine how the consumer’s optimal choice of current consumption and future consumption changes, and how saving changes.  Show how your results depend on income and intertemporal substitution effects. (15%)

4.
Assume an economy with 2 consumers, Mr. A and Miss B.  Mr. A’s income in the current period is yA=100, and income in the future period is 
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.  Miss B’s income in the current period is yB=120, and income in the future period is 
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.  Each consumer pays the lump-sum taxes in the current period and in the future period.  That is, tA=20, tB=20, 
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, and 
[image: image4.wmf]10

=

¢

B

t

.  The real interest rate is 10% per period.  The Government spending is G=40 in the current period and 
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 in the future period. (Total: 18%)

(1). Determine the consumer A’s lifetime wealth. (4%)
(2). Suppose that current and future consumption are perfect complements for Mr. A and that he always wants to have equal consumption in the current and future periods.  Determine what A’s optimal fist- and second-period consumption are, and what optimal saving is.  Is Mr. A a lender or a borrower? (6%)
(3).
Assume the government does not change its spending in both periods. However, the government decreases current taxation such that tA=10 and tB=10.  Assume the Ricardian equivalence holds for both consumers. Determine the effects on aggregate saving, private savings, government deficit, and the quantity of debt issued by the government in the current period. (8%)
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